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0 3.3. f(x) 00000000000 ODODOODOOOO (v,w>00ODOOO
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gboboboogobobboooobbbooooobobogod

(k) = / " e~ 5(z) =1 (3.39)

—00

gbooogog

/OO dxd(z) =1 (3.40)
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0000000000000000 g(x)0000O

| deg@ita) = g0 (3.41)
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falz) = . ’ (3.42)
0 otherwise
/OO dx fn(x) =1 (3.43)
i(z) = li_r)n fn(2) (3.44)

gboobbouglbbogobboodbbdee=00b00000000000000OO0OO0
gbobobodo

gooodoooobobboooooogoo
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goooouoooooobobobbiloogd
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(i) 6(x) = %/_ dk e'**
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(mMU@»:§:F%3ﬁ@—%HDDDDDﬂ@zODDDD%DDDDDD)

(000 0000000000000 O0O0O0OOOO0OOOOOOOOOOO0 f(x)

0000 [def(z)= =P [de f(z): —ir [de f(z)0(x)DPODOOOODO)
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- 0 (x<0)
N J
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()000 400000
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0 0?
au(t, x) = K@u(t, x) (4.1)

wit,z) 000 t00000000 (x000)0k(>000000 k000 000 p0
00000 (k=k/cp)D0DOO000 MOD0DO000000000OOO(ODOO0000)
0000000000000000

000 J(t,z) = —k2u(t,z) 00000000000

0 0
au(t,x) + %J(t,x) =0 (4.2)
guoooooooooobbobbod
9 b
5/ dru(t,z) = J(t,a) — J(t,b) (4.3)

4.1 0O0O0O0OO
U000 —co<z<oocUUooouoooonon
u(0,x) = up(x) (4.4)

0000000000000 @E)0000 2000000000000000wu(t,z)0O
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(t,2) Akt ( )
goggd
u(t,z) = / dy K(t,z — y)ue(y) (4.12)
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goo

lim K(t,z) = d(x) (4.13)
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K(t,z) 00000 up(z) =6(z) 00000 w(t,2)00000000
00000000000000000000000000000000 w(0,z) = 6(z—y)
00000000000y0000000000000 u(t,2)=K(te—y) 00000
000000 u(x)0000000000 66—y 000000 (u(y)0000000
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gbobogobobooogbobbuogobboboonl —o<z<gsUOU0O0O0O0OO0OO0OO0

gogd
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gobobooogbooobooooboboboooobboboooobbbooooooboobo
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u(t,z) 0 2000000000000 00O00O0OOO00OOOOOOOOOOOOOOO

Ob0o0bOO0obObO0oboo0bo0obuo0oboobuoobuobobUob sinkz00bOOO
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00000000000 k=n-L(mez)D00ODDOODO

u(ta) =3 (an(t) cos (n - %) 2+ ba(t) sin nx) (4.24)
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gbobboogobbuogobbbodbbbtd4rbbbo0oobbbooobbbooon
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V. (t) = —kn?b,(t) (4.27)
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000000000 4700000 uw(x) 0000000000000 DODOOOOO0OO

O000000000u(x)0 mn<z<2r00
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0 4.1. B|]OO0OOOO Em0O00000000000O0O00OOODOOO

9, 9,
au(t, ) = au(t, —m) =0 (4.35)
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4.3 0OO0OO0OOOOOO

gbooodbboobboobboobboobooboobbuoobbooboboon

goooogao

2 (t )_ 6_2
ot "\ T R

0000 —7<z<7000000000000 u(t,£r)=000000000 u(0,z)=

u(t, z) + q(z) (4.37)

w(z)00O0O0O0 (E37)000000000000O000000OO0OO00D0OOoOoODOO
gbooboogoobobooad

gbbobooodbt—=ocbDOUOO0OO0ODODOOOOLOODDOOOODOO

Uso () := lim u(t, x) (4.38)

t—o00

44



040 00D00OOO 43. 00DOOOODOO

uo(z)0000000 (E3) 0000000
82
n@um(x)+q(:c):0

gooooooooooood
1 [* Y
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gooooodoooioobonooonoooooooooonoonn
Viu(x) = —6°*(x — o) (5.2)
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Oogogooogoo
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DDDDDDDDDDD(D)DDDDDDDDDDDDDD
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0000000000000000000000000
0 (EYO00000000000000000000000000000 u(z) — 0
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Q(:c)@ + R(:c)d—y +S(@)y+Ay=0

4
dz? dx (7.49)

000 Q(z),R(z),S(x)0 n00000000ADD 000000 (A=X,)00000
000000000000000000000000)000000000000000
(00000 MmMO00)00000000000000000000000000000
000000000000000000000000000000 (Bochner 00O [8])0
0rO000000000000000000

0000000000000000000 [0,0000 w(x) 000000000000

O000aO —ocoObO oo O OOO

oo 71.000000
00000 {P,(z)}*,000000000P,(z) (#0)0 000000000000
w(m)DDDDDDDDDDD(f,g}::f;dxw(x)f(x)g(x)DDDDDDDDDDDDD

000 (Pn,P)=0(m#n)000 {P(2)}, 00000000000
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00000 (@YO000000000000000000000000 y(00)0 (729)
000000 S@)yo+ Ay =00000 S(x)=-200000 S(z)00000000
00 ADDO0O000000O0O000%»(100)0 (@)000000 R(x)y, + Ay = 00
000 R(z) = —Ay/y,00000 R(z)0001000000y(200)0 (29000
000 Q@)y; + R(@)ys + Ay = 00000 Qz) = —(R(z)ys + A\y2) /00000 Q()
0002000000

0000 Q(z)0002000000R(x)0001000000S8(x)=0000000
00000 (@Y 00000000000000000000000000000000

0000 [MOo0000

721 O0000O0ODOOO0ODOOODOO

00000n0000y=y,(z)0 ((@9)000000000000
Q(z)y, + R(x)y, + Ayn =0 (7.50)
Y, OmDODOD00D0 g™ (0<m<n)00000000000000
Q@)™ + Run(@)y™" + iy = 0 (7.51)
00O

R,.(z) := R(z) + mQ'(z) (7.52)
m(m — 1)

o = XA+ mR'(z) + 5

Q" (x) (7.53)

000000000 ()0 mO00000000O00O0O0O0O0OOR,,(x) 00010000
0w, 00obobooggoon
nU0000n000000000000000000O0O0OO yﬁln):const.#OD

(x1)000000000000oooo000UuoD w,=0000000000000
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OOooooobobooooaxobooogo

" ) (7.54)

A=\, = —nR(z) —

OO0DoDO0bOobooooooooD A=A 000000000

00000000000000000000000 w,(x)0000000
(Q(@)wm(x))" = R (2)wm(z) (7.55)

00 wo(z) =w(z) 0000000000000 w,(x)000000(@sN)00000

gobobooogoboobod

(Q)wn(@)y™') + ot ()™ = 0 (7:56)
(C38) 0 0

(Q%Zg?%’:Rm@%:R@y+mQ@w (7.57)

@%ﬁgW:R@) (7.58)

gbooooogn

+mQ'(z) (7.59)

oooo
w(r) _w@)  Q(x)

@)~ (@) Q) (760
goooooooooooooooo
Wy () = Q(x)™w(x) (7.61)

0000000000 " 0Q(2)wnm(z) = wnn(2)0y™ =™V 0o0Do0oo0ooooo

(7=0) O

1
W (2)Y = = (W (2)y )’ (7.62)

m

000000000 00000000000000 10000
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gbbobooogbbbuoooobbboooon

wla) = = (o (@)
I L ORI CINAY
(sl
= (=" <1£[o ,u_1m> %(wn(:c)y;”)) (7.63)

DDDDDDDDDDDyT(Ln)DDDDDDDDDDDDDDDD c,0ooooogoboog

Ubn0000000

e (Qyu() (7.64)

Yn = w(z)

ooobdbobobobooboboboooobobobobobooobbobo
oobobobobobobobobooooooboboboboboboboboo

000000000000 wx)=10Q(z)=1-20C, =52 0000

2nn!

722 00O

0 (®x)000000 {y,}, 000000000000 0O0O0O0ODOOODOOO

oboboboobooboobod

b
Ung/UMw@vumw> (7.65)
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000 wz)0000000000{y,}>2,00000000000000 (Y, ya) = 0

(m<n) 00000000000 O00O0O0O0O0O0OO0OO0OOOOOOOOOOOO0OO0

b mn
(st} = [ ol £ 22 Q) (o)

b m
a/w%imm%m>

dx™
“ g @uyate)| - [(a B Q)
000 (rs3) 0000000000
(@) () s wn () o Qau(ayf? (7.67
goooo
Q@)w(z) =0 (¢ — a,b) (7.68)

000000000000 000000000000000000 (rsR)000000

obobboobooboobooboob

b n
(Y, Yn) X / dx ddj:Q(x)”w(x) =0 (m<n) (7.69)

0000 (mOO0O0O0O0n(>m000000000)0000000 (Z68)0 {y,}>2, 0

gboboooobbboooobbbuooobobboood

7.2.3 00000000
00 w(zx)000000000000000000 ((£53)000)0
(Q(z)w(z)) = R(z)w(r) (7.70)

gbbbuoooobobboooobbobuoooobbbuoobboboogooboo

2= —00,b=+40000000000000000000000 n€Zs 0000 2"Q(x)w(z) =0 (z—a,b)0000
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(Cmy0o000o0

w'(r) R(r)-Q'(x) (00100000)
w@) Q@)  (00200000) (7.71)

0000000 Q)0 0000000000000 (bOoo0oU0ooooo)ooooo
gdod

() Q) = (b—=)(z —a)

(i) Q) = 2 —

(i) Q) = 1

0000000000000 (Cca)0d0d0D wx)ODOODODOOODOO

(i) w(z) = (b—2)*(z — a)”

(ii) w(z) = (v — a)¥e’®

(iii) w(z) = e +hr

000 a,b,0,A00000000a # b000000000000 z — & = cx +d
(,deC,e£0)000000 Qx),w(zx)DO0O0ODOOOOOOODODOODODOO

i) Qz)=1—-2% wx)=(1—-2)*1+2)"

(il)) Q(z) =z, w(zx) = z%~

(i) Q(z) =1, w(z) = e
godoootoootuootdoooboooooouoouooooooooonooo
00000000 (B3 oooooo
O00000000000000000@{) 0000000 (Jacobi)DOODOOOOOOO

00000000 (x)000000000ooooooo

(—1)" 1 "
2l (1 — )21 + )P dam

(1 —2)*(1 +2)°(1 — %)™ (7.72)
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O0000oo0Uoouoouoououoouoououoouoo
d?y
dx?

(1 — %) —1—(5—04—(a+ﬁ+2)x)j—z+n(n+a+ﬁ+l)y:0 (7.73)

0D0000000000000 (FBR)0000 [a,b)0a=-1,b=10000a,8 > —1

gboooogdgn

/1 dr (1 —2)*(1 4 2) P ()P (z) =0 (m #n) (7.74)

1

OO000D00e=p=00000000000000000000

U 7.2.04:6:—%DDDDDDDDDD(Chebyshev)DDDDDDDDD

To(z) = Ziizgz%ﬁifﬁ/l/ZI/m(aj (7.75)
0000000000
To(z) =1 (7.76)
Ti(z)=x (7.77)
Ty(z) = 22* — 1 (7.78)
Ts(z) = 42 — 32 (7.79)

obobboboobooboobobobobonb0obb0o0obooboobo

T, (cosf) = cosnb (7.80)

0 7.6. [B] (ZR0)0000

(i)00000000 (Laguerre) 0 (0)00000000000000000 (Z53) 0

gbbboogobbobuooan

L (z) = Hmae—xﬁ(m e “x") (7.81)

L%Q)D(a)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
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0000000000 L®M(x)00000000000000

d’y dy
x@-l—(oz—l—l—x)%%—nyzo (7.82)

00000000000000 (80000 [a,b)0 a=0,b=+co0000a> —10

goooooo
/ dr 2% LY (2) L (z) =0 (m #n) (7.83)
0

gbooooog
000 (1) J00000000 (Hermite) DO0OD0D0OO0O00OO0O0O0O00OO0O0OOO (764)

gbbobooodgbobobooaoobo

1 d 2

H,(z):= (—1)"e_jw(e_” ) (7.84)

gbbbuoooobbbuooobobboooooboo

d*y dy
—_— 2 — 2 p— .
Tz T 2 +2ny =0 (7.85)

D0000000000000 (680000 [¢,6]0 a=—o00,b=+co0 000

/00 doe ™ H,,(z)Hy(z) =0 (m #n) (7.86)

—00

()0 Q(x)02000000000000000 Qz)=(x—a)?000000000
0000000000000000000000000000000000 (0000

gbbbuooeudbobobooogbbboooobbobuoooobn

73 OOoooood

gboboodbbogbboobooboobbuoobboooboogboooboon

gbbbooogbbobuoooobboban
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00000000000 (=) 00000000 e=00000000000000
gogoouuoobooobbbbbd %DDDDDDDDDDDDDDD (Ly(z) =

n! LY (2))0

Ln(z) = —— 9 (omegm) (7.87)

e~ dxm

gboboboogobbobuoooobbboooooobooo

Lo(z) =1 (7.88)
Li(z) =—2+1 (7.89)
Ly(x) = 2% — 42 + 2 (7.90)
Ly(z) = —2® + 92* — 187 + 6 (7.91)
Ly(z) = z* — 162° + 722% — 962 + 24 (7.92)

O@20000000000000000000
10

L
41

Lo(x)

072:0000000 LL,(x)000 (n=0,1,2,3,4)0

00000000000000000000 (Z82)00)0

d*y dy
x@—i-(l—x)%—i-uy—o (v =mn) (7.93)
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r=00000000z=0000000000000rv#n000000 2 — 4000

y~e*—oo0DOOOOOOO

7.3.1 0O0OO

gbobobuoooobobouoooobooan

/0 e Loy (2) L) = (n1)260 (7.94)

m#n0000 (CX)O000000

07.7.[Alm=n0000 (C®@W 0000

7.3.2 0O0O0OO

00000000 (=Z2)000000000 (Z=x2)0000000000000000

gbobbuoooobbbuooobbodao

n! 2"e?
Ly(x) = —e* ¢ dz ——F—— 7.95
(%) omis % Z(z—:c)"Jrl (7.95)
0ooooodd000oooooooon
733 0UO0O0O0OO
doboooooooooooooooooo
__xt o)
e 1-t "
— = > —Lu(0)t (7.96)

n=0

0000000000000 00000000 (W) 0Do0o0ooooooooooo
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gbooooogn

= & ethi= (7.97)

gooo

7.3.4 00O

00000 (@@ 0O¢t000000000000000000O0O0O0O0O0OCOODOOO

goo

Loyi(z) = (2n+1—2)L,(v) —n’L,_1(x) (n>1) (7.98)

vl (v) = nl,(z) —n*Ly_1(z) (n>1) (7.99)

0 7.8. [B] O (W), (C¥) 0000

7.3.5 OUOOOOODOOO

gbooboodbbuogbbooobobbuooobooobobboobboobboon

gbbobooodgobobod

dk
LE(z) = (—1)’6%%%(@«) (7.100)

(Ca) 0000000000 Li(z)00000000000000

d*y dy
x@—i-(k—l—l—x)@—i-uyzo (v =n) (7.101)
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v#n000000z—4+cdy~er woc0o000000000
(M) 00000 ()0 e=k00000000000000 Lfi(w)ocLﬁlk)(x)DD
gbobooobboboboboooon L’fL(x):(n+k:)!L£Lk)(x)DDDDDDDDDD LE(x)

obobbooboobooboon

(n+k)! 1 a-
n!  ake—® dxm

LF(z) = (" Fe™™) (7.102)

gbobobooooooboooobbooogad

/ dr o "L (2)LF(z) = %—L6n (7.103)
0

74 OUOUdoooog

gbooboodbbodgbboobbodgbuogbuogbboooboogbooobon
gbbobuooogbbbuoooobbbooodg

000000000000 (a0 00000000000000000O0Qg

1 dr 2
— (e " 104
() (7104

Hy(x) := (=1)"

gboboboogobbobuoooobbboooooooo

Hy(z) =1 (7.105)
Hi(z) = 2z (7.106)
Hy(z) = 42* — 2 (7.107)
Hs(z) = 82 — 12z (7.108)
Hy(z) = 162" — 482* + 12 (7.109)

O@obdboooooobooobooooooong
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H3) [/ Hy(x)

Hy(x)
_X [ A1 Hy(x)

L n n n 1
-4 -2 2 4

20+

073:00000000 Hy(z)000O (n=0,1,2,3,4)0

0000000000000 000000000D00000 ((==\)0OoO)o

d? d
y—2x—y+uy:0 (v

r=o000000000000O0v#2n0000000 22— +ool y~6x2—>ooDDD

gbooooog

74.1 00O

gbbbooooooboooobbooogd

/ do e H, () Hy () = 2"n/7 50 (7.111)

o0

m#n0000 (CM/O0O0O0O000O0

079 [Alm=n0000 (ZO1)0000
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742 0000

00000000 (=2 000000000 (Mm@ 00000000 oooooood

gbbbuoooobbbuooobbboooon

H,(z) = (—1)"&&2 j{dz e (7.112)

gbbobuoodb«0000bboboooon

74.3 0O0OO0OOO

gboobbooooboboooobboooon

o0

2 1
eI =N —H, ()t (7.113)
n:

n=0

0000000000000 0000D000O0 (@ 000ooooooooooo

gbooooogn

n=0 n=0
e’ e ™
271 z—x+t
R ) R e (7.114)
o000
7.4.4 000

00000 (D30 ¢t0,0000000000D0CO00O00ODOOO0OODOODOO

gobooo
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H,1(x) =22H,(z) — 2nH,_1(z) (n>1) (7.115)

H(x) =2nH, 1(z) (n>1) (7.116)
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U8t Uotun

gooboboboboobobobobobooboboboboboobobobo
gbobogobogobuoobobuoobbuoobboobboooboooobo 20000
gbooogboaob3gobuobobugbbuoobobboobboobboobon

gboboboooobbboooobbobuoooobbbooobboboogooboo

8.1 UUUDODLOUOOU
8.1.1 0LUUgUOObObOOdOOo

000000000 (0000000)0000000000000000000000
00000000000000 (Fuchs) J0000000000000000002000
000000000000000000000000000000000000 (Riemann)
O0C=CU{co} (0B 00000000000

2000000000000000000O0O0O0OO0O0OO (BlODD 40 §15000)0

% +p(z)% +q(z)u=0 (8.1)
pe) = fﬂ‘zj 82)
12 =2 ((2 ?jzj)Q Tz ?jzj) (83)

J=1

z=ooU00UO0OO0OOOOOODLOOO
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L 1
-

|
|
_

¢

081: 000000 CO

gooo
0 8.1. [A]z=00000000000000000 E@OOOOOOOOOO

0000001000 (000 2=0)00000z=0000000000000 4=
2,B=0,C;,=00000000000000 B0« +2z"%=000000000
000 270

0000002000 (000 2=0,00)0000000000 EI)0 o’ + Az~ +
Bz 2u=00000:=000000000 p(p—1)+Aip+B,=000000000
0000 po0000py #p- 0000 2r+,2-000pr =p_(=p) 0000 27,2 logz
0oodooooooooooooouooooooooood

gogbobobobooobobobbobobooboooboboooouoo 3o ououoo

gbobobuoooobboog3gnobobooooboboan
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8.1.2 0DUUOOO0ODLODODO

gbbb02=0,1,cc 3000000OUOOO0OOODOOOOODODODOOOOO

d2u Al AQ du Bl Bg Cl Cl
cu L (A L (el - ~0 8.5
d22+(z+z—1)dz+(z2+(z—1)2+z z—l)u (8:5)

»=00000000 pg,z=10000000 ., 0000000000000000

1
2P=(z — 1)

v(z) = u(z) (8.6)

00000 (BR)000000000000000000000000R,0 B,000
0000000000000 B,=B,=0000000000
000000000 A,,4,,C, 0300000 o,3,7v000000000000000

00 (Gauss) 00D OOO0OODOOOO "

z(l—z)7u+(w—(a+ﬁ+1)z)%—aﬂu:O (8.7)

00000 -=000000000000000D000O00O0O00O0O p(p—1)+yp=000

gboboud p=0,1-~y000000 p=00000000000ODO0

u(z) :chz" (8.8)
n=0
0000000000 (o000 0oooooooooooo
oy = (n+a)(n—|—ﬁ)0n (8.9)

(n+1)(n+7)

OO0000000000ooO0O000y¢Z,,00000000000O0ODOO

_ (@)u(B)n

0000000 (o), 0000000 (Pochhammer) O 0O O

() =ala+1)(a+2) - (a+n—1) (8.11)

1A1:77A2:a+ﬁ—’y+1701Z—QﬁDDDD
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0000000 (a)g=10000¢=1000000000

Fla, B;7;2) = 2 F1(a, By 73 2 Z a) (8.12)

0000000000 (hypergeometric function) 0 0O O 20

Cn

lim
n—oo

=1 (8.13)

Cnt1
000000010000F(,B;7:2)0 |2/ <1000000000000000000
C\{1}0000000F(a,B:7y;2) (B 000000 (B)000000000

(E7)0200000000000000000000000000+y¢Z0000z=0
0D000000000000001-~4000000u(z)=2""(:)00000v000
0000000 (&) 0 (o, 8,70 1—y+a,1-7y+4,2-4) 00000000000

oooooooooon
ATF(1—y+a,l—v+B;2—7;2) (8.14)

00000000000000
v€z0ODOO0OO00000000 p,p(=0,1—9)00000000 (p1—pe€Z)000
000000000000000000000000000000000000 (logzO
00000000)000O00 /o000

00000000 >=100000000000000000 @0 w=1-2000

gbooooogn

2

et Bortl-(atB+D0 ™ apu—0  (3.15)

1—
w( w o

) dur
0000000 (&)00000000 (o, 8,7) = (0, f,a+8—~y+1) 0000000

O00000002=1(w=0)0000000000,y—a—-p0000y—a—-F¢2Z

0pD00D00000000O0000O ﬁ=1+x+x2+~- goooooooOoooooooooo
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gboboogooboood

F(oz,ﬂ;a—{—ﬁ—’y—i—l;l—z), (816>
(1=2)7"PF(y—a,y=Biy—a—-B+1;1—-2) (8.17)

gobobodo
00000000000 z=000000000000000KD)0w=2"t0000
gooo

2
w(w—l)%—k(aﬁLﬁ—l—k(Z—v)w)j—Z—O;U—ﬁu:o (8.18)

O000w=000000000p(pp—-1)+(l—a—-pPp+as=0000000000
p=a,f0000a—-F¢Z000000u(w) =w*v(w)0O000 (BI8) O

d*v dv
1—w) o BT — (20— v+ 2Qw)— — afa— 4+ 1)v = 1
w( w)dw2+(a 5+ (200 — v+ )w)dw ala—v+1)v=0 (8.19)
000000000000 82)0 (a,8,7) = (a,a—y+1,a—f+1) 0000000

000000000 z=0c0000000 (BZn)0O0O0ODO
ZFla,a—y+1la—B+1;27h (8.20)
O00000p=p000000000000000000O0O
TPRB,B -7+ 1,8 —a+1;27Y) (8.21)

00000000 ()0 z=c0o00000000000000DOOO0
000 2=0,l,c00000000 (0060)000000®RMO200000000
obobodgb20b00003000000b000b0b0o0bobobobuoooobo
gbobobooooboboooobboooon

000 >=00000000:=10000000000000000000
Fla, B;7;2) = el F(o, o+ =y +1;1 = 2)
+e(1=2) PPy —a,y =iy —a—F+1;1-2) (8.22)
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082000000000 F(a,B;7;2) (@) 0000 (R22)00000000000000

000 ¢1,6,€CO0000000 ¢,6,00000
LMLy —a—p)
(v —a)T'(y - B)’
T(y(a+ 5 —7)
T(a)l'(B)

000000000000 B0 20 Fle,B;4;2)00000000000000 (O

(8.23)

cl =

(8.24)

Cy =

82)0

08.1.000000000000 () (000A=n(n+1)0z2=(1-2)/200000

& d
z(l—z)d—g—i-(l _zz)d—Z+n(n+1)y:o (8.25)

0000000 Ed a=n+1,=-ny=100000000000000000
gbboboogooobooaooboon

1—
P,(x)=F (n +1,—n;1; ng) (8.26)

gobooo
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0 8.2. [A]0000 BE@OOOOOO BMOODOOODOOOOOOOO

82 [UUOODLOOOOO

gobobooboud z=0,1,cocU00OOOUOUOOOOOODOOODODOOOOOOO
gobooo 2221,22,236@(DDD 2,00000)000000000000000

20gggbobobuoooobobbuoooob sbbuoooobobobooooooboo

% +p(z)% +q(z)u=0 (8.27)
p(z) = Z . f_szj (8.28)
g(z) =) <(z f}jzj)z + - szj) (8.29)

»=o0000000000C0O00000COO0O00OCOO0OO0OOOOO0O0O0O 2 # o

(j=1,23)0000z=00000000000000 (E@0OOOO

3
> Aj=2 (8.30)
j=1

3
> (2Cj+ Bj) =0 (8.31)
j=1

3
> (2Cj+22B;) =0 (8.32)

j=1
000D000000A;,B;,C; (j=1,2,3)00000000000009—-4=500

0 83.[A] z=0c000000000000 (8A), (830), (R31), (R3O0 00000

goo

00000 2=2000000000,",, 0000000000
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gbobobooodgobobod

A+ o =1- 4 (8.34)

py 0" = B, (8.35)
00000000 (83@) 0 (830) 00

3
> (r + o) =1 (8:36)

7=1
0000000000000 2 =00000000000R3B) 000000000000

00000000 (:=2)00000 ", 000000000000000000

oboobobbobboo
4 N

=21 =29 Z=2Z3

1 1 1
AV e Y (8.37)

2 2 2
Pg) Pg) Pé)

N /

gbuodgbboobuodboobboobuoobboobuooboobboooboon
0000000000000 00000O00000O0O0D0D0DOoOOOoUoLOoOOO
gboogobogobdobogbboobbooboooboooob sgbbobooon

gboboboooobobooood

082 0000000OO00DOD (RMIUODDOOOODODUODODDOOOOOODOOOODOO

0 0 o (8.38)
l=y v—a=p5
0000000 B\ O00+(1—9)+0+(y—a—F)+a+p=1000000000

gooo
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000000000000 (=m0 oooooooood

z—ww=z+a (a€C) (8.39)
z—=w=cz (ceC) (8.40)
= w= ! (8.41)

z

0000 E®)O0D00000000003000000000000000 (B=39), (8210),

(B0 O000000oooooooo

(a,b,c,d € C, ad — bc # 0) (8.42)

000 (w=00000000000ad—-bc#40000)00000000000000
0030000000000000000000COO0CO000000000000
0000 E22)00000000000000 80

0000000 (R 0000000000000 00OoOoOOOOObOO0OOoo
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